Practice Unit Assessment (1) for N4 Numeracy


     Marking Scheme

	
	
	Response

	1
	Percentage calculation

Addition
	20% of 400 = 800

£480

	2
	Subtraction 

Division
	870 – 120 = 750

750/50 = 15 g 

	3
	Multiplication
	150 × 1·18 = 177 euros

	4
	Subtraction

Addition

Subtraction
	4 hours 20 mins

1420

1635

	5
	Perimeter calculation
	P = 28 m

#No, 28 m > 25 m

	6
	Division
	63/3 = 21 miles

	7
	Ratio/proportion Ratio/proportion


	350000/7 = 50000

50000 × 4 = 200000

# Yes, correct

	8
	Difference
	4 degrees

	9
	-
	#600 ml

	10
	Decimal multiplication
	406·80 or 349·80 

 526·80 or 519·80

#Holiday Sun less

	11
	-

-
	#Length measure 7·6 cm (nearest 0·1cm)

#Angle measure

26o (± one degree )

	12
	-
	# 2 of pack A and 1 of size B £3.05

	13
	Fraction
	#60/360 of 1200  

200 

	14
	-
	# Bank B

	
	
	

	15
	-
	# 80 males

# More females use the gym from Monday to Thursday but more males use it at the weekend.

	16
	-
	# Company A is most suitable

	17
	-
	#Prize B

Evidence of
5/80 = 0·0625 
and 8/120 = 0·0666…

or equivalent

	18
	-
	# English

Evidence of 
25/40 = 0·625 
32/50 = 0·64 
38/60 = 0·63

or equivalent
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